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QUESTION 1

It is known that the gene that codes for male pattern baldness depends on the gene for red hair. This type of interaction
between alleles is known as: 

A. Interplay. 

B. Affectation. 

C. Genotype. 

D. Epistasis 

Correct Answer: D 

 

QUESTION 2

In a complete combustion reaction involving adequate amounts of oxygen and a compound containing carbon and
hydrogen, the products are always? 

A. carbon monoxide and oxygen 

B. carbon dioxide and water 

C. heat and water 

D. carbon dioxide and heat 

Correct Answer: B 

 

QUESTION 3

Which of these taxonomic ranks is arranged to show broadest, most inclusive to narrowest, most exclusive? 

A. phylum, species, order 

B. species, genus, family 

C. species, family, class 

D. kingdom, phylum, class 

Correct Answer: D 

 

QUESTION 4
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In the context of the passage, "accommodate" means to 

A. arrange lodging for 

B. contain 

C. make allowances for 

D. excuse 

Correct Answer: C 

 

QUESTION 5

Select the meaning of the underlined word in the sentence. 

The patient\\'s health appeared to be contingent on her taking the medications. 

A. erroneous 

B. contagious 

C. dependent 

D. reliable 
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Correct Answer: C 
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